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1. -'qﬁ X +lugmﬂ+3't:| = I]'DE.IEI 5+Iﬂglﬂ 6 i’
A x T = 27

fa) 2, =3
b FE= 2
fel 1

[d 3

2. fgsmarh =m (101110), +(110), ¥ duwa
3 aTTHE B, e

fa] (111}, G-fh'.[l{:lﬂ}z
fb) (100}, 3% (111,
() (101}, #HW (101),

fd) (100, =M (100),

3. 9P A xR SR x o+ 5 wEm §) srew
B H y dfml iR 11-y %fem % AR ¥n
BA 7M1 fmm #1 x & y % 9m w:
27

fcd) 8 %R 8
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4. o5 =pp M2 HE 2, W 5, e Ap

F T nwﬂ'%#zmqﬁrﬂm%aaﬂmt,ﬁ
AHE T Ry

fa} P+Q

{b) 2P+30

el 20

fd}

5. HHERT

(@-rx? +(r—plx+(p-g)=0
&+ qE 7 #
(@ (r-pl/lg-r) 1/2
(B} (p—gq)flg-r) 1
e la-r)flp-g) 1

[dl r-pflp-gh 1/2

6. Tii E g9¥ wg=A § o A=Buc ¥, @

el E~(E-(E-(E-(E-A))T= 838
e A=g ¥ 9Om &7

fa) B wC
(b BuC
fe} B 'nC

fdl BrC



=45 4. If S =nP+

njn — 1)Q
2

=, where 5, denotes

% +log)p(l+2%) = xlog;; 5+log & the sum of the first n terms of an AP,
then the commen difference is

then x is equal to

(@) P+Q
W 22 (b} 2P+ 30
) 2 only © 20
i @ Q

fd) 3
E. The roots of the equation

2, The remainder and the guotient of the
binary division (1011105 +(110}, are
reapectively

lg-rx? +ir- plx+(p-q)=0

fa) (111}, and (100},

r= -r), 1/2
(b (100), and {111, (@] (r—pl/la /

fe] (101}, and (101, (b) (p-q)flg-rh 1

fd) (100); and (100), ¢} la-r)/lp-q) 1

fd r-p/ip-ql 1/2

3. The matrix A4 has x rows and x+2
columns. The matrix B has y rows and

11—y columns. Both AB and BA exist. 6. If E is the universal set and A= BuC,
What are the values of x and y then the set E - (E — (E - (E - (E - A)))) 18
reapectively? same as the set

fa) 8 and 3 fa) B wC

{B) 3 and 4 b} BuC

] 2 and 8 [ B~c

{di 8 and 8 {d) BnC

ADU-S-LET/81A 3 [ P.T.O



7. MW A={x:x, 2FIPHY), B=lx:x 55

oE Ry A O= x: x, 10 =1 7 R} R,
An(BrC) T s 37

fa) A
fb) B
fe) ©

() fx:x, 100 ¥ T 3}

8. afE o 3 p A l+x+x2=0% 4 &,

e

(v ) 1 B

T B 7
FY X [ =1 =17
fez) 1 2] fb) =5Y
o TS
ol 2] () i

9. A2 |a| Tl i * Frdy o=+ oofm 8, @

FadasR-aaf i
1. |ab|=|a||k|

2. |a+b|<|al+|b|
3. |a-b[z||a|-|b]|

1= By ™5 W W s wd e i
fa) e 1w 2
(b} aw 2 ¥R 3
fe) Fad 1373
[d) 1, 2R3
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10. = PERMUTATION' % =&l @ Fryy fafim

HEE WA W e §7
fa) 19958400
{b) 19954800
fe) 19952400

(d) 39916800

14 6+4i
i=+—1%, 9 kA Frad s=g 27

11, IR A=[4f_ﬁ HA ]afl'n. kt% ¥, WE
1

() iET?EE E;EEE.
0 "7 ai]
b -2-53{ Ejﬁi_
@ ih?ai afas_

12, #F®  |x-3P+|x-3]-2=0 F @

AT Yt T ATES = A7
(a) 2
&) 3
e} 4
(d} 6




7. If A={x:xis a multiple of 2}, BE=|x: xis

a multiple of 5 and C={x:x i8 a
multiple of 10}, then An[(BnC) is
egual to

fa) A
(b B
fc) C

fd] ix:x iz a multiple of 100}

B. If «x and [} are the roots of the eguation

1+x+x* =0, then the matrix product
1 Bl B
oo 1 B
is equal to
i =1 =1
e mD
1 =1 -1 =1
) [_1 ,_,] @ [_l _2}

9, If |a| denotes the absolute value of an

integer, then which of the following are
correct?

1. |ab|=|allb]
2. |a+b|s|a]+|b]
3. |la=-B|z||al-|b]l

Select the correct answer using the code
givenn below.

fe) 1 and 2 only
fb} 2 and 3 only
fe} 1 and 3 only
fdl 1, 2 and 3

ADU-S-LET/81A

10. How many different permutations can be
made out of the letters of the word
PERMUTATION™
fa) 19958400
() 19954800
fc] 19952400
fed) 39916800

4i-6 1M

141 6+44
i =41, then kA is equal to

24 3 5
"r“’i[ 7 2—3;']

11. H_&:[ :|and I:=E§1-_. where

Ay §
b} ¢ ]
2=3i i
(e | 5 2+3i
243 5
@1 7 2+8i]

12. The sum of all real roots of the equation
|x=3|*+|x-3|-2=01is

fa) 2
(b) 3

fe) 4
d) 6

[ P.T.O




13, = fom mn & & g 16. 8% |yl grt & fru qrfvrs

x* -4x-logg P=0 cos? 2 ain2 P
2
w E Aredlas §1 §HE 60 P % gEEE TH
. 3.8 2B
= &7 Gin" = ooe’ o
1
@ == 1 A R
2L (@ 1
i) 64
I bl cosB
(e —
a1 fc) sin#@
(d) 1 fd) cos28

14. 92 A ww =1 al adj AT — (adj A)T
T Sy Ry W adj A7 - fadj 4) 17. R & 9T (x+ @100 4 (x - o100 ¥ waw

T T e B # w31 6w feeh 27
fa) A
(b) 2|A|I =@ [oaTE =gE R i -
fc) WA w=ge, fawdt FR (aidr) = % & 101

AR

fe) 51

(d) TR g, e Sl () a9 R

S AHE (d} 50

15. e 18. (1+ %)% & wan & x % few Wl % il =

63 x6% % 68 x 615 x ... 3 T 7% e 27
F 9 ¥R (@) 026
il (b} 249
b} 36
216 @ 2%
fdf 512 fd} 291

\DU-5-LET/B1A 6



13. It is given that the roots of the equation

x? —4x ~log, P = 0 are real. For this,

the minimum value of P is

fal —
==

fo —
fa) 1

14. If A is a square matrix, then the value of
adj AT - (adj .-‘J.}T is equal to

fat A

(b} 2|A|I, where I is the identity
matrix

fe) null matrix whose order is same as
that of A

(d) unit matrix whose order is same as
that of A
15. The value of the product
1 ' C B .

GE '.-e:i'iﬁ1 ® 68 x 6 ¥ .., up to infinite terms
s
fa) &
{b) 36
fe) 216

jd) 512

ADU-S-LET/B1A

16. The value of the determinant

aB . ab
cos® — 8in” -
2 2

si.n:‘! E maﬂ ?
Z 2

for all values of 6, is

fa) 1
(b} cosB
fc) sin@

fd] cos26

17. The number of terms in the expansion of
lx + a]m":' +[x~- a)’? after simplification
is
fa) 202
b 101

e} 31

jd) 50

18. In the expansion of (1+ A:'JE'D, the sum o
the coefficients of odd powers of x is

.|'ﬂ J' Qiﬁ
I"b } 49
g g=e

fd.n' 251

| P.T.C



19. HfR a, b, oy aEEE el 8, 6 We=E

a 0 0O
A=[ﬂ b almﬁqﬁmﬁ‘ﬁmt?
0 0

a! 0 0
) —| o b 0

[
o

e == 0

df —| 0O

[ng
=

20. vH =i Fi 4500 T f el =60 3 9w

nth #Yiq rd fiFe 4 B Je fem 2, 9@
HI 98 9@ a, 9 7900 T 1) of

EI ﬂﬂ-: ={I3 =...=ﬂ]u = 150

Eh'ﬂm' Gy, Gyg, ... AP A ¥, T W
Hm -2 &, @ wht 9= = Tee 0 ) e
wE whm T

fa) 24 iz
(b 34 fz
fc) 125 e
{d) 135 iz

ADU-S-LET/B1A

21, & B2 BEE qlE nwe-m b, faes e

(2 <o

-1

fa) 1
b 4
fc) 8
[dj 16

22, 9% ' = Nx N T 9% 6559 R 36 060

afoTEm =

(@, by Rle, d)s==a+d=b+e
a4l (a, b, le, d)e Nx N & fom 51, 9 98

e ¥ 27
(e} FEE iy

(b) FEw AU 30 HEEE

fg] Traa Ty
(d) EE =g

23, o y=x+xT+ x4+,

Fd g1 ok, wE

x < 18, @ Fra 8 8 we-a wd 27

fa) x=—=
1+uy




19. If a, b, ¢ are non-zero real numbers,

then the inverse of the matrix

a 0 0
A=|D b D
0 0 ¢
is equal to
ar 9 0o
f@ | 0 ' o0
0 o0 &}
1_:1" 00
m —| 0o &1 0
be ﬂ 0 E.‘_l
1'11:10‘
. = @l e
T
(@ O O
fd;%{}bn
F 0 0 el

20. A person is to count 4500 notes. Let

g, denote the number of notes he
counts in the nth minute. If
Q) =l By =...5Wjn = 150, and e Tl
ayi, Gyg,... are in AP with the common
difference —2, then the time taken by
him to count all the notes is

fa) 24 minutes
{b) 34 minutes
fe) 125 minmutes

{d} 135 minutes

ADU-3-LET/81A

21. The smallest positive integer n for which

(H]n =1, 18
fa) 1
B 4
ic 8

{d)l 16

22 If we defirie a relation & on the set V< N

as |a, B)Ric, d) = a+d=b+c for all
la, B, e, d)e N x N, then the relation is

fa} symmetric only
(b} symmetric and transitive only
fe) equivalence rclation

(d) reflexive only

2 3

23. fy=x+x°+x" +..up to infinite terms

where x =1, then which one of the
following is correct?

(@) x=—=
1+ 1y

P

b x=1
(el x=1+y
Y

(d) e
b

[ P.T.C




24.ﬂﬁm3ﬂtﬂ=&'ﬂﬁﬂﬂl3xi+ﬂx+l=ﬂ'ai=]§| 28. 9z

2, i 9% wiwm, faok qm oo +p! R

_ qimd
1.3+2.32 +3.3% +...+n.3" =12n_1:|3__+b

B+a! §, -7 4
fa) 3x® +8x416=0 #, 9 a SN bEEm: W A7
2 ok
fb] 3x* -8x-16=0 @ n 2
fe) 3x? +8x-16=0
b} n, 3
fdl x2+8x+16=0
o n+l,2
B scsadit gt o caphp el (d n+l,3
logy e log;e® log,e
F1 HE T 17
fa) log, 9 ) 0 29. aPOR %, LR=1 ¥ aR ““‘(EPJ st
fe) 1 (d] log, 3 mn(g}mﬂmuhbnpnéimai,

26. 16 @M % 0w wmm wEl w ey T |
R i o e
wival wme aw ¥ = ke 9 o R

et § & - d

fal a=b4c

wE T wEd ¥ AR 9 =W s gul . Beere

3 = 1 A T wen F 9w 7 fe) c=a+b

fa] 24 x 8l x5l f{ﬂ h=¢

() (81)°

e} 210x8[x 8l 4

an.#ﬁz-—|=zi,?i’l|z|waﬂi‘mﬁaqﬂﬁﬁmﬁi
(dl 16! s
T BT

27. k % fem owm % T wimw P (@) 1+J3

kx +y+z=1, x+ky+z=k 2l

X+ y+kz=k? = wE g ol 2 (b) 1+45

fa) O (b} 1 ) 1-435

e} -1 fd) -2 fd) 5-1

ADU-5-LET/81A
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24. If o and p are the roots of the equation

Ix2 +2x+1= 0, then the eguation

whese roots are ¢ +p~! and B+a™! is

fa) 3x* +8Bx+16=0
M 3x2-8x-16=0
fe)] 3x2+8x-16=0

fdl x2 +8x+16=0

28 The walue of

1 1
IﬂE:lg e 2 log e? ! log s e? T
infinite terms
i3
(@) log. 9 (b O
e 1 (d) logg 3

26. A tea party is arranged for 16 people
along two sides of a long table with
eight chairs on each side. Four
particular men wish to sit on one
particular side and two particular men
on the other side. The number of ways
they can be seated is

fa) 24 = 8lx 8!
) en?

fe) 210 x81x8!
(d) 161

27. The system of equations kx+y+z=1,
x+ky+z=kand :-:+\1,r+!r:$r=rfr:2 has no
solution 1f k equals

(@ 0 ) 1
(e} -1 fd) -2

ADU-S-LET/81A 11

28. If

- 2rn-13"+b
4

1.8+2.3%2 +3.3% ¢+ n 3"

then a and b are respectively

fa) n, 2
b} n, 3
fet n+1,2
(@ n+1, 3

29. In APOR, ZR=Z.. If tan {g) and tan [%’j]

are the roots of the equation
ax? +bx +c =0, then which one of the
following is correct?

fa) a=b+e
{b) bmc+a
fe} e=a+h

fd] b=c

|
30. Il'i:g--i =2, then the maximum value of
5

|2| is equal to
fa) 143
{B) 1+45
(e} 1-+5
d) J5-1

| P.T.O




al. i fm Fsm I B R a w

o "ma = T w150 8 ofw e @
T gt oA w450 B s
iR § S wEE # S Readt 27

fa) 25 m

(b) 2543 m

fe} 50 m

fd) 503 m

32. tan% - tan 27" - tan 63° + tan 81° W AH

Topmiy w7

fa) -1

(b} 0

fel 1

el 4

33. 3 cosec 20° - sec 20° & HH fFos w0

B

fa) 4
(b) 2
fe) 1

) -4

ADU-53-LETf81A

34. M o F 5 9 A dW1 B 5 wen faaiha

ToRAT T ® i : A-Bm=x i

tanﬁ:hnﬂ:p:q%lsinx‘ﬂﬂﬂﬁ?ﬂ%
O B7

() [P +q) sino b) o osino

P-q P+q
p sino =) sino
fe) id) {p-g] sine
p-q p+q

as. sin! [%]+m-1 {_;]am o s woa

n

fa) © v %
bi ] mn

€ % @ >

36, UF @ F 3 3w um 8 uw T o il &

TAEA FIV HEA: 30° SR 45° Bl 9t emw 6y
FE hy ¥ sl ow F S g ¥, o R
9 8 -9 " &7

2hphy
% 3:1-@ _hg
3. iLl’":l'_'i:]"lj'=ﬁ_]:'
J3+1 2

A faw %2 = v W= W I gh
fa) & 13 3
(b) waw 2 ¥R 3
fc) WA 1 3R 2
(d) 1,233



31. The angle of elevation of a stationary 34. Angle o is divided inte two parts A

cloud from a peint 25 m above a lake is and B such that A-B=x and
15° and the angle of depression of its tan A:tan B=p:g. The wvalue of
image in the lake is 45°. The height of sin x is equal to
the cloud above the lake level is k) el p sino
fa ———— (b)
P-4q P+q
fal 25 m
sino - ino
o 2= id) lp—gq)s
(b} 253 m P-4 ptq
e} S50 m 35. The value of
BT | E e ik o) !
[d) 5043 m s [sj*m [?]
is equal to
T
32. The value of faj O (b =
— tan 27 = tan 87° T n
tan 9° n tan 63 + ie) : (d) :

is equal to

36. The angles of elevation of the top of a

tower from the top and foot of a pole are

L A respectively 30° and 45°. If hy is the
height of the tower and hp is the height

(b} O of the pole, then which of the following
are correct?
1
9 1 2hghy _ h?
Y 3+43 P
(d) 4
g Pp=he  Bp
J3+1 2
33. The wvalue of 43 cosec20° - sec2(P is 3. 2(hp +hy) il
equal to hP
(@ 4 Select the correct answer using the code

given below.
) 2 fa) 1 and 3 only
fb] 2 and 3 only
fe) 1 and 2 only
(d) -4 (d) 1,2 and 3

fe) 1

ADU-S-LET/81A 13 [ P.T.O.




37. OF Tay® ABC # a-2b+c=0 B 40. sin™! x %1 F= W TEm swre § @ 47

Entlré]cnt (E]Tﬂ HH = RT
L2 2

@ (53
o o [31]
G

i @ [o3]

fd} [0, n]
3B, J1l+sinA = —[ﬂin?+m3§]'ﬂﬁﬁ'ﬂﬁ

fal ﬁﬁﬁi—ﬂtﬁﬂ%
41. fagl (a b), (O O), (~a - b) 37 {ab, b?) ¥

fa) TE R =gdE F i fag

0 Teaclt (b) T T % i g
i
(d) -:}{.4.:% G T fog
fd) GE

39. Tiqs ABC # 4R

sin® A+ sin? E+3in31:'_n2 42, Wﬁﬁfmﬁ'ﬂﬁ'ﬁqﬁﬁx+ﬁy—2§ugm
cos® A +cos2 B+cos? C sfierea it wrard frmds T @7

#, 1 7 fuw fw wem w0 #1
fa) 2 9f
fa] B
() 37M=
(b) HHETE
fc) wigamg fc) 43F=
(d) it FiviE (d) 7=

ADU-S-LET/81A 14




37. In a triangle ABC, a-2b+c=0, 40. The principal value of sin”! x lies in the

The value of cot [g) mt[@ 15 interval
[
@ - @ (-3 E]
bl 3
(L) P [_EJ E]
3 2 2
fic) 5
mn
(@ 1 @ o 7]
38, J1+sinA = —(ﬂing +cnsg] iz true if fedj [0, =]
fa) 3—;{4&-::-»- only
41. The points (o &), (0 O, (o -B and
B2
() Z<a< only Doy e
fei) the vertices of a parallelogram
(e} o5 < A< S
2 2 {b] the vertices of a rectangle
[d] D=A< 'EEEE (c] the vertices of a sguare

fd] collinear

39. In triangle ABC, if

sin? A +sin® B+sin® C 3

42. The length of the normal from origin to

2 2 2
cos® A+cos” B+cos” C the plane x+2y-2z=9 is equal to

then the triangle is

fa] 2 units
faj right-angled
fb) 3 units
(b} equilateral
o) isosceles (@ 4 unis
fdl obtuse-angled fd} 5 units

ADU-S-LET/B1A 15 | P.T.O.




¢3+qﬁu;ﬂ#ﬁTﬁmg¢ﬁHﬁﬂD—ﬁmEﬁ_ 46. 4t a ¥ b T wmm wRw §, @ wf

frg 3) Fiws @l € s fom & wa (@ + B) x ja = b) P v 7
EELE R R s e )

fa) {a-B)

1. cos?a+cos?P=sin?y

2. sina+8in?f=cos?y M pea

2. Einzﬂ.+sin2ﬁ+ginzﬂﬁr=2 fc) Eﬂ-ﬁi

e T8 T R W v = w e g (d) (2a+ bj

fa) FEE 18R 2

(b) a@ 2 w3 47. Beft wm w= g af+zj-30) 4 B

fc) AR 1 3 3 B(3i - j+ 5k) 7% Feaiim #0 % fog ww
e F =+ 3]+ 2k 1wt e we &) aw

@ 1, 23R 3

; FURERIRI e C R ETo s i

44, TEH x+y-3=03N x-y+3=0% 9= fa) 5 3F=

HOFM oo ® oA el x - 3y+2/3=0

M Bx-y+1=0F ¥= = FEm p R b) 7R

o 4 3 - o 27 () oufe

fa) a=p b} o=

g Lo (d) 10 gfz

fel =P fd} o =2p

i 48, T wfem d %
45. TR M d =7+2)- Kk, p=2f-j+ 3K 3R TR

T =21+ J+ 6k 97 whm &) 7R & o B 3 x4 x ji*vid % B
AfEm 5 W oenw AW 5.7 =102, @ § = T woE A7
i T R I
fa) [d|*

fa) 3 g
) 243 i (b} 2]d|?

J3
6 5 W= @ 3@P
i)

43 (d) 4|ad|?

ADU-5-LET/81A 16




43. If o, p and v are the angles which the 46. If & and b are two unit vectors, then the

vector OP {0 being the origin) makes vector (@+ B)x [@x b) is parallel to
with positive direction of the coordinate
axes, then which of the following are ia) (G-b)
correct?
: 5 msiﬂ'_+cu52ﬁusin2v [B) la+b)
2. sino+sin?p=cos?y (c) [@2a-b)
3. sinfa+sin?p +ein?y=2
(@) @a+b)
Select the correct answer using the code
given below.
fa) 1 and 2 only 47, Aforce F =1+3]+2F acts on a particle to
(b) 2 and 3 only displace it from the point A[f+2j'—3£;

to the point B3 - j+5k). The work
done by the force will be

fe) 1 and 3 only
fed] 1, 2 and 3

fa) 5 units
44. The angle between the lines x+y-3=0
and x - y+ 3= Ois o and the acute angle {b) 7 units
between the lines x —+/3y+2+3 = 0 and
JBx— y+1=0 is f. Which one of the
following is correct?

o) o=/ b a>p fel] 10 units
fe) o=<p (d) w=20

fe) 9 units

e — o “1- Fﬂr ﬂ-“-}r "-'-El.':tﬂrl_lr
45. Let @ =1+2]-k, Pp=21-j+3k and

¥ =21 + ]+ 6Kk be three vectors. If @ and @xiP+ 1@ xJP+dxk?
E are both perpendicular to the vector
% and 8.7=10, then what is the is equal to
magnitude of &7
. fa} e

{a) 3 units
(b) 243 units B 2032

N
fc) "2— unit rﬂj 3|—Eh|2

1 .
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49. H-wd ¥ vl #in dew g wF =fE 1w T

& T @ gorm-wedl 1 zmd i . A

52, sl (-3,4,-8 3R (5, -6, 4) B W

At T W Xv-ne ¥ v weem

o 10 m & o ) wam-wei  de 27
T am B ¥ 30 ofEE vy = dEe &
ToperTr 37 & B
fa) [3’ ’GJ
fa) 18z a1 =
) i i TR
(b 15m & ¥iEx ®) (-2, -2, 0
fe) 12n 3 iz
(@) snar ¥z @ (-4 2, o)
50. ﬁﬁ_['l, S]ﬁmﬁx-bﬂywﬁﬁ i, =i T fd) [E 8 [:J
Y dx + y=4 ¥ gHiw a3, e b7 3
5
fa) ﬁﬁ?
53. df Tmad, e RE-sm (2, -, 2) R
3 5
(b) d_l'_'}'qﬁz qr,S,E}i,%ﬁﬁﬂﬂmgi,ﬁ!xm
W WE R
fe) 17 gE
(@) 52
(d] ?qﬁz b)) 4
i) 2
61, IR afem al + j+ K, {4 bj+ & 30+ jo ok () 1
fa, b, c# 1) GaGEE 2, A
T:L:;+1—1Er+1+c 54. fﬂjﬁnixﬂwf - 20 % 71y fag (1, 2) #
i B
F1 7 T aoe &7
fa) EEEH F =T
(@ 0
3 1 (b) e % o, g w0
fc} at+b+e fc] ﬂﬁ%ﬂ“
fdl abc (c) ThTEH W
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49, A man running round a racecourse rnotes

that the sum of the distances of two
fag-posts from him is always 10 m and
the distance between the flag-posts is
8 m. The area of the path he encleses is

fa) 18n square metres
fb) 15w square metres
fc) 12n square metres

{d) 8n sgquare metres

50. The distance of the peint (1, 3) from the

line 2x + 3y = 6, measured paralle! to the
line 4x+y=4, is

5
units
(a) i3
{byj % unit
fe) 17 units
{el} g units

51. If the vectors ai + j+k, i +hj+k and

i+ j+ck [a, b, c# 1) are coplanar, then
the value of
1 1 1

+ +
-8 1-b 1=e¢

ki

is equal to
fa) 0O
o 1

fed at+b+c

] abc

ADU-S-LET/B1A 19

B2. The point of intersection of the line
joining the opoints (-3,4,-8 and
(5, — 6, 4) with the XY-plane is

w (339

§3. If the angle between the lines whose
direction ratios are (2, -1, 2) and

(x, 3, 5} iz %t then the smaller value

of x is
ja) 52
b} 4
fo) 2
(dj 1
E4. The position of the point (1, 2) relative to
the ellipse 2x% + Ty® =20 is

fal] ocutside the ellipse

(b} inside the ellipse but not at the
focus

fc} on the ellipse

jd} at the focus

| P.T.C.




55. TF W& @, M y-#9g F wonews Bwm o 58. 3 Iu ® "W W R, W fegadt (1, 0),

5 e w1 sEs wed § ol emm A (0, -6) ¥R (3, 4) ¥ B e 27
e B F WY 1200 w0 S a=E E, &

S S fa) 4x* +4y® +142x+47y+140=0
B8] y+3x+5=0 (B) 4x? +ay? - 142x—47y+138=10

~J3x+5=0
L (c) 4x2 +4y? - 142x+47y+138=0
fe) y++3x-5=0

) g dRee 5D d) 412+4y2+150x—49y+133_=0

56. Tt # w0 #=0 R, & feg 2, 3) e 59. U W v Bl frwa fag (o b, g @ T
T 2x-3y+7=0 T Tx+4y+2=0 e B s e W owmm oA, B ow
% yft=dz-fag @ S e B2 HIEA ¥ MEH OABC ¥ 5 %1 fgry, =

O fiem gefeg ®, FF-m &7

fal 2lx+46y—180=10

x
fB) 21x-46y+ 96 =0 el
(e 46x+21y-155=0

fdl 46x-21y-29=0

57. 38 dlga = wiem w7 E, e S
el 9t, 41 37 rﬂﬁ%muTaﬁﬁmg

R wiew W 4 g i
2 2
fa) x_+l-!!'...=_1
1024 64 60. 30 HOO8 W HHEW w R, W wEAe
x+y+z=1 2x+3y+dz="7 H f=Em
m 49 7P W od fm W ow e
1024 54 x-5y+3z =5 A= &
53 4942 fa) x+2y+3z-6=0
9 Soma’ w ) x+2y+32+6=0
" 5 fc)] 3x+4y+5z-8=0
(7 LS .
1024 64 (d] 3x+4y+5z+8=0

ADU-3-LET/81A 20




55. The equation of a straight line which cuts

off an intercept of 5 units on negative
direction of yaxis and makes an angle
120F with positive direction of x-axis is

(a)

(&)

fc)
fd)

y+3x+5=0
y-v3x+5=0
y+43x-5=0
y—-+3x-5=0

56. The equation of the line passing through
the point (2, 3) and the point of

intersection of lines 2x - 3y+ 7 =0 and
Tx+4y+2=0is

(a)
L
(e)
(c)

21x +46y - 180 =0
2x— 46+ 96 =0
46x +21y-155=0

46x —21y—-29=0

57. The equation of the ellipse whose centre

58. The equation of the circle which passes

.through the points {1, 0}, (0, -6} and
(3, 4) is

fa) 4x? +4y® +142x+47y+140=10
b) 4x? +4y® - 142x -47y+138=0
fe) 4x? +4y? —142x +47y+138=0

() 4x2 +4y° +150x-49y+138=10

59. A variable plane passes through a fixed

point (g, b, d and cuts the axes in A, B
and C respectively. The locus of the
centre of the sphere OABC, O being the
origin, is

ig at origin, major axis is along x-axis

. 2 b 3
with eccentricity 5 and latus rectum

fa) Z+¥4%21
a2 b e
I"bi E+E+E=1
x ¥ 8
i"cj E.q.E-F-E:'E
R
d Z+H1Z=0
a b ¢

4 units is
2z &
TR D et
1024 mL]
2 2
{b} q.g_x q.Ti = l
1024 B4
7x2  49y?
m ]
fel 1024 * &<
2 2
o) X e oy
@ Jo2a "4
ADU-5-LET/B1A 21

60. The ecquation of the plane passing

through the line of intersection of
the planes x + y+z=1 2x+3y+4z=7,
and perpendicular to the plane
x-5y+3z=5 is given by

fa) x+2y+3z-6=0
fb) x+2y+32+6=0
fc] 3x+4y+5z-8=0

fd] 3x+4y+S5z+8=0

[ B.T.O.




61. Ha y= 51* = wiowim T 7 64, Frefafiga o fmn fifay

fa) x=y®s, y>0 1. x+x2%, x=0 ¥ &
f) xcmyB usih 2 x+cns§;,x=[ﬁﬂ1&iﬁmri:
fe! r=y1ﬂ3, y=0 3. xi+msi,x=l’.‘hmﬁaai
fd} x=5Imy, y=>0 ?ﬂﬁ‘ﬁﬁ#—ﬁﬂﬁﬁ?
62. T For Franmn fuffm (o) F=w 14T
"é 'D -
fe={ Va2 B Sawa s
Dx =0 o) ¥ 1 w3
ERE 7 % Hed § Feiateg 1 9 e
nﬂt?w i {d 1,233
fa fix), x=09 wmm & fiFig x=0 W
8 65. F=falEs wye o famm Fifem -
B fix), x=0 W W BH F HU-w@y i
sawera o & 1 %% el g Y, w0 forg o vl
fc]  fix), x = 0® ¥EqE # = ) w26 R
() T G G FE el 2, AR aft) TR T E R el R,
M [aldt +c 30 F0 % I F A
= 5 el B
E&my:{m”ﬂmm{ %’ﬁlﬁgm 3, afe sty T+ W TR oF fmam =
WA A7 mm%,ﬁ%ﬁaﬁrwmmk
i - y? tanx T T WA R
1= In (cosx)
I | W A weE e R
) _ yltanx
1+ yln [cos x) fa) +=Ea 1 w2
o I tenX (b} A 2
1=yln (sin x)
2 _. fc) Faq 1
(d) Yy sinx
1+ 1In (sin x) () 1,2 3% 3
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61. The inverse of the function y=57% is

fei) IFH-'#.E, y>0
B x=y"% y>0
fc} x=yTrh. y=<0

fd x=5lny y=>0

62. A function is defined as follows :

e
fixd=1 x2°
g « x=0

Which one of the following is correct in
respect of the above function?

fa] fix) is continuous at x = 0 but not
differentiable at x =0

(b) fix) is continuous as well as
differentiable at x =0

fe) fix) is discontinuous at x =0

fd] MNone of the above

ﬁcun.ﬂ )

63. If y=(coax)co%* , then % is

equal to

y? tan x
1- yIn (cosx)

fa] -

4
L
T i
14 yln [cosx)
y* tan x
1 = yln (sin x)

fel

yza'mx
1+ yln (5in x)

(]
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64. Consider the following :

1: :.||:+.;u:2 is continuous at x =0

e z 5
2. x+cos— 1s discontinuous at x =0
X

1 ,
3 xﬂ +ocogE— 13 continuous at x =0
X

Which of the above are correct?

faj 1 and 2 only
fb] 2 and 3 only
fe} 1 and 3 only

(e} 1, 2 and 3

65. Consider the following statements :

¥: g% at a point on the curve gives

slope of the tangent at that point.

2. If aft] denotes acceleration of a
particle, then fa{ﬂd”r: gives

velocity of the particle.

3. If st) gives displacement of a

particle at time f, then Eﬂ% gives its

aceeleration at that instant,

Which of the above statements is/are
correct?

fa) 1 and 2 only

(b} 2 only
fe} 1 only

@) 1,2 and 3

[ P.T.O.




66. A y=sec”! [_':+1}+Ein_t [.r—l] 3, T 69. T flx) = x{x— Yx + 1) F wi # Frafafam

% # x+1 i § wE-A | B
Y e 7
i A fa) e sfiswan oF, wEn Ew AR g
(@) o LER
B 1 (b) T sfiran om, T *EEE 9 9
e B
x—1
C e fc) e FHE g sl aE R
@ **1 (d) ER N T Ay e R
x—1
70. Fr=fafas w9dt w fimr $ifw .
67. J'tan" (sec x + tan x| dx TFH+ T0E BT 1. flx) ®1 e, fe g w0 v
e st A T 8w b
e 2. flx) = wEwes, B g w ot
5 wiers | 7 7 B
ib) %+IT+¢ 3. filx) T vEEad, el g w anffn
(wfied w9 /) & 76 2
2
e} ?1—%1-: I § B 98 Fye g £
- ﬂx_x2+ fa) aEd 1 3R 2
& . (b ¥aw 2 3w 3
' fc) A 1 33
68. (0, =) T TF HF 56 TEN HEiE B
fd) 1,2 3R3
1-x2 , D<x<1 % fom
fix) = Inx , l<xs2 % fom In
In2-1+0-5x%, 2<x<s= % fom 71. Txm:ﬂﬁmnnﬂw’s?
Her & e aefa oy F el F§ fe fa) e
U F-un aft 27
fa) filxj=2x, 0<x<1%fm L B
(bl fxj=-2%, D<x<1% femw 2
fc) Fix=-2x 0<x<l¥ fim o
(d) fx)=0, 0<x<o®fom (d) 1
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66. If y=se::'] i’x+ 1
vx=1

fi—ﬁ i& equal to
fa} O
b} 1
x—1
(el x+1
x+1
Mi;ll

to?
2
nE . X
2] —+—+¢C
@ E+E
2
- oI
iz 5 B SHPTF
fb) ek

fci %+1—t-§—+c

mE X
————e
{d) T

68. A function is defined in (0, =) by

1- x* for O<x=1
Ini x for lex=2
In2-14+0:5x for Z<Xxcon

flx) =

Which one of the following is correct in
respect of the derivative of the function,
e, filx)?

fa) fix)=2xfor Dcx=1
fb) f'x)=-2x for 0= x =1
fe] flxl=-2xfor0<x<]1
fdl fllx)=0for D x <o

ADU-S-LET/81A 25

69. Which one of the following is correct
in respect of the function

flx) = x(x-N[x+1)7?

fa} The lecal maximum value is larger
than local minimum value

fb) The Ilocal maximum value is
smaller than lecal minimum value

fef The function has mno local
MaxiImum

{d) The function has no local minimum

70. Consider the following statements !

1. Derivative of fi{x) may not exist at
some point.

2. Derivative of f(x) may exist finitely
at some point

3. Derivative of f(x) may be infinite
[geometrically) at some point.

Which of the above statements are
gorrect?

fa) 1 and 2 only
fb) 2 and 3 only
fe} 1 and 3 only
{d 1, 2 and 3

Inx,
T1. The maximum value of — is

X
fal e
1
L) =
) 2
e
@ 1

| P.T.O.




T2. % fle)=|x|-x §
(a) o
(b} HH
fc) &9 3% fam 21
fd) A & 5w, 7w

73. af:
'{1 - d [Eﬁlfl..\:'
I, = lim gTa) ey

?, @ F= 1 F Feem ol 27

d
(@ §#ly (B) E[Ig]' =1y

e [lgde=1; (d) 1,=1,

dy _ax+h
74. Y
e bwk*lﬂiﬁﬂﬂﬁ‘iﬂﬁﬁaﬁm

7 Tltm = #, ==
fa)] a=b=0
(b) a=-b=z0
fel a=be0, h=kK
(d) a=bw=0

75, At Um S0X _ g oy im SO5X_ 0 3
sty & Eepur X

e & 8 w27

@ l=Lm=1 (b 1=%,m=ﬂ.

I'I':.II' £=§::m=ﬂ rfd_’ I=1,m=m

ADU-S-LET/B1A

76. ‘]‘jt 1+3m-gdxﬁﬁm%?

fa} 8

(b} 4
fdj 0

T7. @ |x|+ |y| = 1570 ofEg 8% g 27
fa) 1 = g0
(b) 242 7 T
fe) 2 = T

(d) 23 & g

78, T x w1 IERE e R, A Ao § @ faw

g 2
HAE H — ] N7
1.,._,.;4

fal {0, 4

o o]

o (@)

fd} [0, 1




T2. The function fixj=|x|- 7 is
fal odd
{b} even
fe  both even and odd

fdl neither even nor odd

73. If
!1 = ;_xl:Esi.nx]
sim (x+ R _ 8in x
ly = lim = -~
R0 h

I3 = _[E“i“ *cos xdx

then which one of the following is

correct?

@ b=l B Lis)=1
al L#1l; el =4
() [ladx=1, fd L=l

74, The general solution of

dy _ax+h
de byt k
represents a circle only when
fa) a=b=0
o] a=-b=z0
fe)] a=bz20 h=k
fdl a=b=0
75. 1f Hm 20X g and lim 22X _ i, then
"'—_}ﬁ X X—m X
which one of the following is correct?
@ 1=Lm=1 (b I=2, m==

2

fﬂ) i=;,m=ﬂl r'dj ,r:l,m=-ﬂ

ADU-S-LET/81A 27

76. What is [," 1II|i:1+==.in§ dx equal to?

fa) 8
®) 4
(e} 2

fdj O

77. The area bounded by the curve

x|+ |u|=11s

faj 1 square unit
(b) 242 square units
fe) 2 square units

(d) 23 square units

x2

78. If x iz any real number, then 3
1+x

belongs to which one of the following
intervals?

fa} {0, 1)

() [0, 1]

| PT.O



79. flx)=|x]sinfnxy) F x=k W THEH 81, T A
WEFEE W R, E k UH POE & SR [«

HETH T e Y [1*[£]ﬂr = p? {ﬂr
dx 2
f@ 1%k~ In i Ff R HE s W A
fa) 3 &2
() =1* ke - U (b) 232
fe) 2373
fe) |-1%kn () 1#m3
() [~-1%lkn 82, ﬂﬁy=ms“[1fi:J t,ﬁ%ﬁmﬁm
?

@ ~—2, i x| < 1% firg
1+ x
ax

80. =f2 fla=3-1 B, @ Hwm [0, 5 W

2
Fraferfiaa # & S-m w8 27 ) = o e R PR TR
fa) tan[f(x), 7 ] "Ew i we R, () —= @t x| < 1% P
SN g I+x%
Fix
() I A 7w AL

(b) tan([f(x)], 5l | TEvm ofE v d, _
=l i
£ o) < ¥ @ 83. W it frgall = wgwm, w wow

I o )
fe) tan[f(x)], F& [-] Tewm s wem &, fix)=V1-e™ wEweria &, SF-m 87

st L @t = * 5
po THAT B fa) (0, =)
(b} [—oa, =)
(d) tanLr:xn.fwTsfrl-amﬂmw%. fe] (==, 0) (0, =)
e |, R
. @ (-1, =)
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79, The left-hand derivative of

flx) = |x] sin{rx} at x =k

where k is an integer and [x] is the
greatest integer function, is

fal (~1* k- Un
(b} 1tk - yn
e} |-)*kn

[d (~n*kx

80. If fix)= %— 1, then on the interval [0, =]

which one of the following is correct?

fa) tan[fix)], where [-] is the greatest

integer function, and % are both
X

continuous

{b) tan|[fix)], where [-] is the greatest
integer function, and f‘i{xl are
both continuous

{e} tan [fix]], where [-] iz the greatest
F 1
integer function, and —— are both
aa Flx

discontinuous

(d) tan|f(x)], where [.] is the greatest
integer function, is discontinuous

bt

ig continuous
(x)
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81. The order and degree of the differential
equation

are respectively

fa] 3 and 2
fb) 2 and 2
fe] 2 and 3

fd] 1and 3

B2. Ify=cos™ [ ] , then % is equal to

14 %=
2
fa) —-——— for all |x|<1
1+_'~.:"t
2
b - for all |x|>1
1+ x2
e} 5 for all [x|<1

1+x

fd} None of the above

83. The set of all points, where the functio:
flx)=V1-e* is differentiable, is

fa) (0, =)

B} [=ee o]

fe) (===, G0, =)
dr =1, =)

[P.T.C




84. FH-1 w1 A * ww gafem Hifkg e

i % R fw gz W wEn oA e
0
HEft-1 HE-I1
() (st =)
A. sinx +cosx 1. 10
B. 3sinx+4cosx 2, J2
C. 2zinx +cosx 3. 5
D. sinx + 3cosx 4. 5

g
b
Lo

0
+ O

I
M e
w
20
-

85, TR flx)=xWx-x+ )8, T flx
fa) x =0 Hdd ¥, e WEwea 16 8
(b) x =0 FEFHAAE Y
fe) x =0 Hd T8 B

fd) I A A HY 7

ADU-5-LET/81A

86. fim & 3 F-w %, TR fg) =, x=0
x
#I Frefim w87

]
+1'
fa) « B > X
W
]
+1
by = s > X
5]
L'
u
*%
el = n| 3 X
() =T A @ i

g7, AA el f fln}=[;:-+ L ] 2, Wl [

x % i Tk A e = 2 omm wm

1000
Y, Fin) %1 5= =0 R

n=]

fa) 251
fby 250
fe) 1
fd} 0O




84, Match List=I with List-l1l and select the
correct answer using the code given
below the lists :

List-{ List=0T
(Function) (Mevcimum
ualue)
A, sinx+cosx 1. +10
B. 3sinx+9cosx 2. A2
C. Zesinx+ooDsx 3. &
D. sinx+3cosx 4. <5

Code

fal A B [ D
2 3 1 4
B A B g
2 3 4 1
fe A B i D
3 2 1 4

B5. If flx)= xWx —Jx+1), then fix] is

fa) conmtinuous but not differentiable at
x=0

{b) differentiable at x =0
fe) mnot continuous at x =0

{d} None of the above
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B6. Which one of
represents the function fix) = X xwn0
x

y
Ll

the following graph

+1

fa) < > X

(b} = = x

¥
+11"L

* » X
fc) Dl

(d] None of the above

1
B7. Lctf!n}:[a-+ﬁ

the integral part of x. Then the wval
100

of ¥ fln)is
n=1

], where |x] denot

fa) 251
(b 250
e 1

{dl ©

[ P.T




88, [(nx) " dx~ [(inx) 2 dx Tk agan 27

e} x(lnx)"!+c
b} xfln 22 +e
e} x(lnx)+e

(e} .n':l:ln.;u:l2 +C

89. U uig I 9 F 9 vdE AwE = wEm w5
T 2w a6 U e 91 & R
o+ B | Ak W 6 arften sifteeem wael &, @
SR W M, WROH S Wk T A
IR | 39 9 § k% 9F 1 &Y

fa) 1
b 2
fo 3
e} 4

90, ﬁmdr+_ﬁ4mtrdx w1 "E T
W BT

(@)

&4

T
(b} 3

ADU-5-LET/81A
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91, 9F wifm g wewm qoiE wea ) =m = A

wo fix) = (g(x))? - gix?) Tl wwmm 4
(@) Fefl qorier] o

b) © #R 1 = Sz 2 pilE @

fc) O F Bz i gt W

fd) 1 %l Sigwt @it goisl

92. FHIFT y= Alsin(x+C)+cos{x+C)) #

e =l A 3l ¢ % P (Re) @
wiH F=em iz 1 s T wa-a B

fa) " +(sin x+cosxjy’ =1
(B} y" =(sinx+cosxy’

fe} y" = {y'}ﬂ +5in X CO8X

dl y"+u=0

93, F=fafiEn sl w = fifbo .

]
x>sinx, ¥ x> 0% fom

FYA1 :

flx)=x-sinx TH FYAHE Be R, wf
x}ﬂ%ﬁﬂﬁ

I7d w3 g § Faafafas § @ P
i &7

fa) Fe4R 1 " wyq 1 2E 99 F, w
T 1 F g6 s e R

(b) #4341 #R Fem 1 S W R, A
F4A 11, F4H 1 %1 3 T 6 R

fc) e 1 WE 8, TRy %A 11 Tem 8
(d) 99 1 7ea &, g % 1o #




88. J[lnx]‘ldr— J'I_]n.ﬂ'ﬂd'.r is equal to
fal xfinx)"'+e
(b) :u::irm:j'EL +c

(] x(lnx)j+c

(dl x(nx)? +e

89. A cylindrical jar without a lid has to be
constructed using a given surface area
of a metal sheet. If the capacity of the
jar is to be maximum, then the diameter
of the jar must be k times the height of
the jar. The value of k is

fa) 1
) 2
c) 3

(d) 4

90. The walue of

ﬁ-..-'tanx ol +J'§ SJeotx dx

is equal o

n
faj y

(b

kA

fe} —

(i)

wal=
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91. Let g be the greatest integer functio:

Then the function f(x)=(g(x))* - glx
is discontinuous at

fa}  all integers

(b) all integers except U and 1
fe) all integers except O

fd} all integers except 1

92. The differential equation of minimu:

order by eliminating the arbitra;
constants A and C in the equatic
1= A[sin (x + C) +cos(x + C)] is

fa) y"+(sin x+cos xjy’ =1
fb) " =|sinx+cosx)y

() y"=[(y)? +sinxcosx

(d) ¥y +y=0

93. Consider the following statements |

Statement I :
x>ginx for all x>0

Statement If :
filx)=x—-sinx 18 an increasir
function for all x>0

Which one of the following is correct |
regpect of the above statements?

fz] Both Statement | and Statement
are true and Statement II is tl
correct explanation of Statement

(b} Both Statement 1 and Statement
are true and Statement I is not tk
correct explanation of Statement

{e) Statement | is true but Statement
is false

{d) Statement ] is false but Statement
is true

[ P.T.




94, AaFE FHE

dy _yo'la-y°
dx bix)
w1 BT I

x

fa) 3;|r-¢‘[m1+r3

b} H=M+C
b 4

fe) H=M
x

@ y=2

X+C

&4
95. af f[x‘,|=4x+'t3 3R glx) =In

1+4x

e+1

fee} 2

(b) 1

fc) ©

1

fd} 5

96. TR
1-00 a-a2 o
1-p p-p* p?
B Sl o

1 u1F femein aman BT

fa) (et —PIB -y =)

b} foe — BB = yly — o)

fe) ol = BB — ¥y — oo +B + )
(d) 0

ADU-S-LET/B81A
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97. =R

3 & =G
B [-2 1 4

6 1 2

el |4 -1 2]
-G 2 1

.| 4 -2 1
3 1 -6

98. wﬁ'ﬂ=[_: _i] 2, A frer A4 B W

7

faj A% =-24
(b) A% =-44
fe} A2 =-34
fd) A2 =44




94. The solution of the differential equation 07. The adjoint of the matrix

dy _ w'id-y? 1 0 2
ox blx) A=|2 1 B
in D 3 1
— x .
b yﬂ%-ﬁc -1 6 2
fa) | -2 1 -4
(g y=32tC 63 1
X
(] H=;ﬁf{; il e
b | -2 1 4
6 -3 1
4x+x? l+x A
95. If _,|"[.:-::—lﬂ‘-‘m_a and g{x|=1n{l_xj,
then what is the value nffag[z_'i] 6 2
2 e} |4 - 2
equal to? & =3
fal 2
B 1 -6 2 1
fc} O fd} 4 -2
i 1 3 1 -6
2
96. The value of the determinant =2 o ]
98. If A n[ ] then which one of the
- a-a? o 2 -2
i-p p-p? p* following is correct?
[1-y y-y* v2 5 2
al A= =-24
is equal to
2
fa) fo—BIB—v)e - 1) M) A% =-44
(b} e~ BB - yily —o) e} A? =-3A
(e} (o —PIB— vy -l +B+7)
[d) © fd) A® =4A
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99, Re (z® -ij=2, 7@ i=+-1 % 3N Re 102, & wifaw & v 9@ 58 v s W BT

Tt 3 ¥, TohEE w0 3 T el T FEH 6 W 6w, e wes §
w87 HE H oHaEn W P R w9 e
Fal #, A 39T 9EE S S S uTiEET
fa) 9 *7
(b) <A i 1
fc) SRR STaotEed 3
(d) TEEA "
by =
|00, 9i8 p+q+r=u+b+c=0?,ﬁ¥l’ﬂ.ﬁﬁ
pa gb rc ) 4
gc ra pb 9
b pc qa
5
Toras =t 37 (e} 3
fa) 0
) 1
103. 9A wifem wiasd wAf2 50 @& s
S P dEmeli A w4, x5 et 2 Biffe W
(d} patgb+reta+b+e 2 3% e § eln v R denal ) R
wom &) P B A S d e R R
101. & T 3R % wiEens ¥ # WA w0 o 1, F{;;_]:E
=fwd 6 TH W R T § o § 25
qureld: T WiRen & w1 Fa Wi 27 i Pm:_l
' 2
@
A TEe T g2 W = I gt
(b % fa) HEE 1
Fam 2
@ =
fe) 13 2 SH
1
A3 () A1, AR 2
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99, Geometrically Re izi -i)=2, where 102. Let a die be loaded in such a way that

f=+-1 and Re is the real part, evenn faces are twice likely to occur as
the odd faces. What is the probability

represents
that a prime number will show up when
fal circle the die is tossed?
fb) ellipse 1
fa) 3
fe) rectangular hyperbola
fd] parabola 9
h) =
) 3
100. If p+g+r=a+b+e=0 - then the
determinant 4
g =
pa gb rc 0
ge ra pb
rb pe ga 5
~ T
fd) 9
equals
faj O
103. Let the sample space consist of non-
by 1 negative integers up to 50, X denote the
numbers which are multiples of 3 and
fe} pa+gb+re Y denote the odd numbers. Which of the

following is/are correct?
fd] pat+gb+rc+a+b+c

B
) s
PX]) GE
101. A commitiee of two persons is selected
from two men and two women. The 2 PEF]=—I
probability that the committee will have 2

exactly one woman is
Select the correct answer using the code

() é given below.
2
7] 3 {a} 1 only
B 2 onl
© ar
fc} Both 1 and 2
@ 2 _
2 fd} MNeither 1 nor 2
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104. @ "EAsl A 3R B ¥ Fm, wa it 106. = T ® B 15 Y& 3 T afEs & anm
P{_ﬁ}:%r P[Hqur% = p[ﬂﬁﬂh.é g R W fawem e 24 3R 0 #)

siiwEl ¥ wad B 9= JEi W gE AT
R P(A ~ B) Forma = 77 for 1 & Fm-m 27

fa) ©
fb) 8
fej 16
fd) 24

fel

S| =

(b}

B

107. 7 # 8 $F-W x Ty F w0 A

Q) y 9 x % WEHEE 90 A F g g
g T = gEal BY
f@) (1, )
1
il ) -1, 1
€ (3 2]
105, frefafian e o e il ) (11 EJ
1, Toreoe qoreR, = % R A g o Pl =il
w0 B
2. wE (), giEm ) s g 2| mﬂ,nﬂf-ﬁﬁqﬁ.qaheérmﬂﬁ,ﬁﬁl%q
' 1
3. Wiy faued @M AFEW g R, @ P!ﬂl=%. PiB) =~ #n PANB) = B
Y FEAT | HA-H HE BT a) %
Faw 1 3
) 1 ¥R 2 ” %
(b) a2 3R 3 1
3 fel p
() Fa=1 3R 3
1
fd 1, 23r3 (@) 10
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104, For twe events A and B, let p[ﬂj=E: 106. Given that the arithmetic mean and
5 ' 2 standard deviation of a sample of

PAUB)== and P{ArB)=—-. What is 15 observations are 24 and 0

3 & respectively, Then which one of the

following is the arithmetic mean of the
smallest five observations in the data?

F(A n B) equal to?

1

e fa) 0
b} B
1
(B) 3 fc) 16
fd) 24
o -
9 107. Which one of the following can be

considered as appropriate pair of values
of regression coefficient of y on x and

fd) % regression coefficient of x on y?
fa} (1, 1)
b} 1, 1
105. Consider the following statements : @ [ 1
g (=2
22

1. Ceefficient of vanation depends on

the unit of measurement of the 1 10
variable, (d) [E' "5)

2. Range 18 a measure of dispersion.
108, - =iy
3. Mean deviation is least when 08. Let A and B be two events with P(A) = =

measured about median, PB) =é and P(A~ B) = i'lﬁ What is

Which of the above statements are P(BlA] equal to?
correct? 1
fajl E
f} 1 and 2 only ib) 1
-
fb) 2 and 3 only
fey —
fe} 1 and 3 only
1
il —

d 1,2 and 3

ADU-S-LET/B1A 39 [P.T.O.




1n9.'qﬁﬁqaiaﬁmm§ta#ra:mrrg%|m 112. %% fom w0 R % X =10, ¥=90, 0y =3,

gy =12 M ryp =08 8 YT X W

(a) fﬁ fa) ¥=23-2X+58
(b X =3.2Y + 58
25
(b} 36 fc] X=-8+0-2¢
25 f-ﬂi} ¥Y=—-8+0.2X
fel) 316
ot L
@ % 113. 3R P(B)=2, PIANBNC)=g i
P|En5m31=% %, W PB~C) TeEw
110. frdfl S=vme W Wk WEE % gOGA g e #
1 - -
nﬁmiﬁlaﬂlﬁﬁ%aﬁﬂm w% {b,!g
4 wETa & awl geiEm wdEn o Wi ; ]
A7 o o @ 3
i 114. Tefefa anoht 4 & gfed % o =@ R
(b} 543 ™R
b == = (7 7)
- - afam A ufan B
G = @M 3,500 2,700
243 = e s
T 1,500 1,000
111. 58 Wiftsm =1 2 T = =afwat % o @p § = : ’
Gl 2,000 1,800
& wn-3-3 2 = w A 9 1 i A = e —
(ad Fa) 7 * i
). =22 I wiwel 8 gaite 9+ fog, Fe i |
1o Tra % o # g 6t Benedll w0 w0
17 Fmy
B —
?T & 14 1
4 = (b} 10:9
5 fe) 100 : 91
@ 3 fd) 5:4
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109. In a binomial distribution, the mean is %

and the variance is g What is the

probability that X =27

fa

(b
22
216
25
54

fcl

fd}

110. The probability that a ship safely reaches
a porl is % The probability that out of

5 ships, at least 4 ships would arrive
safely is
1
fa) 343
10
243
11
243
13
243

(b}
fc)

(i)

111. What is the probability that at least two
persons out of a group of three persons
were born in the same month (disregard
year|?

33
@ 193

17
72
e
144
2

@ 5

(b)

(c)
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112. It is given that X =10, ¥ =90, o, =3,
Oy =12 and ryy = 0-8. The regression
equation of X on ¥ is

fa) ¥ =3-2X+ 58
(b} X =3-2¥ +58
fo/ X=-8+0-2¥
{dl ¥Y=-8+0-2X

3

3. 1f PBI=3, P4 anE}-% &t
P(A BT =~;:, then what is P{EAE)
equal to?

1 3
fal 12 (B) 3
1 1
fe) 15 (d) 2

114. The following table gives the monthly
expenditure of two families :

Expenditure (in )

Items Family A | Family B
Food 3,500 2,700
Clothing 500 800
Rent 1,500 1,000
Education 2,000 1,800
Miscellaneous 2,500 1,800

In constructing a pie diagram to the
above data, the radii of the circles are to
be chosen by which one of the following
ratios?

faj 1:1
(b) 10 :9
fe} 100 ; 91
(d 5:4a
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118, 9 o = % A9 0, 1, 2, 3, ..., n HHI:

st

1, Cin, 1), Cln, 3, Cln, 3, ..., Cin, 1)
% WY W FU §, O AR " = e
fa) 2n
fb) n+1l
fe) n
@

116. TF agfameda giian § w wland] @ @ |

I FFm & e it p B oW wm
@ # Tamet migwmm 1- p #1 9R 98 wEa
I T B, o WA R ST @E EW
Hﬁﬁﬂﬁiﬁlﬁﬂﬂ&!ﬁﬁmmmﬂﬁ

¥ ¥, @ = wie = gl oar vEge
I A BT

R
(et} T

() ——=

fﬂ} EH‘I X ll.p

@ m-1p

117. 4fd x, 3l x, wAEms Uil €, @ 3 Ao

e 3R P AT % A w1 OH
wftrr € =1 widyg = gt

fa) x; +xp >2 3%,
(B) %) + x5 =2
(e I —yfxg [>42
fd] x;+x5 <2( x5 + 1)
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118. F=fafEa w1 w fT=n fifa .

1. W, qEleg TiEeA S Fhe qiEd o
AT 5 B

2, e s, et gfE @ = e
2

I Wl B F Ha-m R ad i/
fa) A1

(b) EE 2

fe) 1 3 2 EE

fd) AWM, 982

119. 1, 3, 5, 7 3R 9 P or=lt yi= Sizal &t ™ #)

T A AR wEE g gl R B O9E
witwm w0 & 5 @ v ofind o fm e
Al B7

fa) 05
by 04
fo) 03

(d} 0

120, HEwEry TUE Fn oA, wf2 e o

0-2 3fw 1-8 #7
fa) 036
(b} 02
fe) 06

fd) 09




115. If a variable takes values 0, 1,2, 3, ... n

with frequencies
1, Cin, 1), Cln, 4, Cir, 3}, ..., Cn, 1)

respectively, then the arithmetic mean
is

fa] 2n
i n+l
fcd n

!’dJE

116. In a multiple-choice test, an examinee

either knows the correct answer with
probability  p, or guesses with
probability 1- p. The probability of

answering a question correctly is ul—,
T

if he or she merely guesses. If the
examines answers a guestion correctly,
the probability that he or she really
knows the answer is

() —=
1+mp
__mp

) l1+im-1)p
m-1p

“ Trm-1p

id) (m—1p
1+ mp

117. If x; and x, are positive quantities, then

the condition for the difference between
the arithmetic mean and the geometric
mean to be greater than 1 is

fal x; +x, }Em
B o + fxg =2
NN g
(] xp+x5 <2(fxx5 +1)

ADU-B5-LET/81A

118. Consider the following statements ;

1. Variance is unaffected by change of

origin and change of scale.

2. Coefficient of variance
independent of the unit
observations.

Which of the statements given above

is/are correct?

fa) 1 only
fb) 2 only
fe}] Both 1 and 2

(d} MNeither 1 nor 2

119. Five sticks of length 1, 3, 5, 7 and 9 feet
are given. Three of these sticks are

selected at random. What is

probability that the selected sticks can

form a triangle?

fal -5
(6] 04
(¢} 03
(d) O

120, The coefficient of correlation when
coefficients of regression are 02

and 18 is
la) 0-36
) 02
() 06
d 09
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